Moltiplica i decimali per 10,100,1000

1,518 x 10 =

6,671 x 1000 =

2,8x10=

6,923 x 100 =

3,167 x 10 =

6, 006 x 100 =

5,464 x 1000 =

10,741 x 10 =

5,797 x 100 =

2,653 x 100 =

Data: Punteggio:

2,491 x 1000 =

9,987 x 100 =

1, 859 x 1000 =

4,821 x 100 =

7,429 x 1000 =

2,725 x 10 =

3,779 x 10 =

5,763 x 10 =

4,128 x 10 =

5,458 x 100 =
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Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
1,518 x 10 = 15.18 2,491 x 1000 = 2491
6,671 x 1000 = 6671 9,987 x 100 = 998.7
2,8 % 10 =28 1,859 x 1000 = 1859
6,923 x 100 = 692.3 4,821 x 100 = 482.1
3,167 x 10 = 31.67 7,429 x 1000 = 7429
6,006 x 100 = 600.6 2,725 x 10 = 27.25
5,464 x 1000 = 5464 3,779 x 10 = 37.79
10, 741 x 10 = 107.41 5,763 x 10 = 57.63
5,797 x 100 = 579.7 4,128 x 10 = 41.28
2,653 x 100 = 265.3 5,458 x 100 = 545.8
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